Multiplication et Division par 1 000 (J)

Trouvez chaque produit ou quotient.

24 +1000 = 3x 1000 =
17 x 1 000 = 29 x 1000 =
44 =1 000 = 7+1000=
43 x 1000 = 70 X 1000 =
89 + 1000 = 51 x 1 000 =
12 + 1000 = 78 +~ 1000 =
30 x 1 000 = 29 + 1000 =
29 + 1000 = 96 X 1000 =
36 x 1000 = 83 x 1000 =
73 x 1000 = 45+ 1000 =
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Multiplication et Division par 1 000 (]J) Solutions

Trouvez chaque produit ou quotient.

24 +1000=0,024

17x1000=17000

44 +-1000=0,044

43 x1000=43000

89 +-1000= 0,089

12+1000=0,012

30 x1000=230000

29 +-1000=0,029

36 x1000=36000

73 x1000=73000

3x1000=3000

29 x1000=29000

7+1000=0,007

70 x1000=70000

51 x1000=151000

78 +1000=0,078

29 +-1000=10,029

96 X 1000 =96 000

83 x1000=383000

45 =+ 1000 = 0,045
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